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JINO2Z2)Madir (12)Zenith (zone (ppb<ide_mixirS0Z (pptvioscl_Sulfe MNa- (pphtv) NHL (pphte] K ipptv]) Ca (pptv) NO3 (pptv304 (pptvine_seroso aeroscl (dater_Contei30nmahbs 554 (none)_SAGAMC (ppty)

JINOZ)Madir (1/s) 1 0.858 0.182 0.253 0.578 0.148 0.28 0.048 0.042 0.4z 0.055 0,045 0.017 0.043 0.054 D.002 0.019 0.087
JINOZ)Zenith (1/s) 1 0.086 0.233 0.36 0.068 0.383 0.038 0.051 0.382 0.004 0.033 0.038 0.022 0.093 o 0.014 0.295
Ozone (ppbv) 1 0.454 0.1z 0.289 0.023 0.157 0.245 0.011 0.03 0.355 0.019 0.117 o 0.04 0.021 0.018
Monoxide_mixing_ratio (ppbwv) 1 0.336 0.239 0.282 0.108 0.637 0.01 0.004 0.383 0.245 0.018 0.007 0.032 ] 3.00E-05

SOZ (pptv) 1 0.297 0.68 044 0.241 0.001 0.286 0419 0.021 0.129 0.009 D.016 0.113 0611
1e_Aerosol_Sulfate (pptv) 1 0.003 0.593 0.0z4 0.034 o 0.555 0.094 0.178 o 0.101 0.087 0.175
MNa- (pptv) 1 0.072 0.546 0.04 0.365 0.132 0.01 0.008 0.001 6.00E-05 1.60E-02 0487
MHE [jRtv] 1 0.029 0.18 0.144 0.814 0.257 0.2 0.011 0.011 0.298 0.335

K (pptv) 1 0.128 D.066 0.275 0.244 0.036 0.004 0.006 0.001 o

Ca (pptv) 1 0.226 0.2585 0.033 0.1z4 0.013 0.004 0.155 o
MO3 (pptv) 1 0.072 0.028 0.287 o o 0.125 0.41
S04 (pptv) 1 0.055 0.062 0.002 0.025 0.191 0.135
iltrafine_aerosol (cm3) 1 0.208 0.002 0.007 0.174 0.221
hot_aerosol (cm3) 1 0.005 0.201 0.091 0.348

1id_Water_Content (g/m3) 1 0.076 | 7.00E-05 o
OTALS3Cnmals (Mm-1) 1 0.111 o044
S5A (none) 1 0.151

HNOS_SAGAMC (ppty) 1






